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module event_count #(
parameter BASE_ADDR = 8'h00

)

input CLK,

input RST,

input [31:0] event,

input v_event,

output [31:0] smem_data,

output [7:0] smem_addr,

output smem_write

)

reg [31:0] smem_data;
reg [7:0] smem_addr = BASE_ADDR;
reg smem_write;

assign smem_data = acc;

always @(posedge CLK) begin
if (v_event) acc = acc + 1;

end

endmodule

int main(void){

intary=[1, 2, 3];

int fd_mem = open(UIO_MEM, O_RDWR);

int fd_io = open(UIO_IO, O_RDWR);

volatile unsigned int *mem = (volatile
unsigned int *)mmap(NULL, UMEM_SIZE,
PROT_READ |PROT_WRITE, MAP_SHARED,
fd_mem, 0);

volatile unsigned int *io = (volatile unsigned
int *)mmap(NULL, UMEM_SIZE,
PROT_READ |PROT_WRITE, MAP_SHARED,
fd_io, 0);

for (inti=0;i<3;i++){
*io = ary[i];
cache_clean((char *)mem, 32);
msync((void *)mem, UMEM_SIZE,
MS_SYNC);
volatile int *c = (volatile int *)&mem[size];
printf(“%d¥n”, *c);
}
}
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ary =[1, 2, 3]
events = Mv::0Observable.from_array(ary)
count = events

.map(){ [e] 1}

.scan(){ |c, x| c+x}

.subscribe(){ |c| p c}




